=
=

~BH

~
-

A 3% R ok 3

KT RFHMH

ELTTH

FE. MER

AR IR EE

MIFOCHAERRE

D 545C, SA5CIEsES

Eaap) & 2R
BEHHNE
ARG
STB1,2,3%24A
STB4,5,6%5248 | -
STB7,8,9424
T. SE%
K ZHF

\ B EIET5. 100, 125,
150, 175. 200m/m

(ERON’

No.E-9412

R

BMEER

s
R ERZ2D

EZRE

‘ aEMER
FIZREE S
£44R

e LY TRZE

BEMHAR EEMER

BSREREEI ‘ BISREREE61
W HAE
TR g ERTREE BEEE (8F) T SEE BREER (524) L AMEmH(E2E)  EEkg
901050 | CMMO0108 10 M 8X1.25 : 1& STC0101-STCO102-STCO103 STB-1-STB-2:STB-3 = 7.5
901051 | CMM1210 12 M10X1.5 | 1E STC0201-STC0202-STC0203: STB-1-STB-2-STB-3 = 8.1
901052 | CMM1410 14 M10x1.5 | 1& STC0201-STC0202-STC0203: STB-1-STB-2:STB-3 = 10.1
901053 | CMM1412 14 M12X1.75 . 1%& STC0301-STC0302-STCO303 STB-1-STB-2-STB-3 . 10.5
901054 | CMM1612 16 M12x1.75 . 1E& STC0301-STC0302-STCO303  STB-1-STB-2-STB-3 © 11.0
901055 | CMM1614 16 M14X2 1E& STC0401-STC0402-STC0403  STB-1-STB-2:STB-3 : 12.5
125638 | CMM1812 18 M12x1.75 . 1& STC0101-STC0102-STCO103: STB-1-STB-2:STB-3 = 11.2
901056 | CMM1814 18 M14x2 1% STC0401-STC0402-STC0403  STB-1-STB-2:STB-3 . 155
901057 | CMM1816 18 M16X2 1E STC0401-STC0402-STC0403  STB-1-STB-2:STB-3 : 19.5
901058 | CMG1612 16 M12X1.75 © 1% STC0301-STC0302-STCO303 STB-4-STB-5-STB-6 : 22.0
901059 | CMG1614 16 M14X2 1£ STC0401-STC0402-STC0403  STB-4-STB-5-STB-6 = 23.5
125639 | CMG1812 18 M12x1.75 - 1%& STC0401-STC0402-STC0403 STB-4-STB-5-STB-6 . 22.2
901060 | CMG1814 18 M14x2 1E& STC0401-STC0402-STC0403  STB-4:STB-5-STB-6 : 24.0
901061 | CMG1816 18 M16X2 1E& STC0401-STC0402-STC0403  STB-4:STB-5-STB-6 : 24.5
901062 | CMG2016 20 M16X2 1E& STC0401-STC0402-STC0403  STB-4-STB-5-STB-6 = 24.5
901063 | CMG2018 20 M18X%2.5 = 1& STC0501-STC0502-STCO503  STB-4-STB-5:STB-6 = 25.0
901064 | CMG2218 22 M18X2.5 = 1&E STC0501-STC0502-STCO503 STB-4-STB-5:-STB-6 = 25.0
901065 | CMG2220 22 M20X2.5  1& STC0501-STC0502-STCO503 STB-4-STB-5-STB-6 = 27.0
901066 | CMG2418 24 M18%x2.5  1& STC0501-STC0502-STCO503  STB-4:STB-5:-STB-6 = 25.0
901067 | CMG2420 24 M20X2.5 = 1& STC0501-STC0502:-STCO503  STB-4:STB-5:-STB-6 = 32.0
901068 | CMG2620 26 M20X2.5 = 1& STC0501-STC0502-STCO503: STB-4:-STB-5-STB-6 = 37.0
901069 | CMH2622 26 M22X25 = 1E STC0601-STC0602-STCO603 STB-7-STB-8-STB9 = 43.0
901070 | CMH2822 28 M22x25  1& STC0601-STC0602-STCO603 . STB-7-STB-8-STB9 = 42.0
901071 | CMH2824 28  M24x3 1E STC0701-STC0702-STCO703 . STB-7-STB-8:STB-9  44.0

=Rl

http://www.nabeya.co.jp



Claire
top-cel.cn


CLAMPING KITS WITH METAL RACKS

(ERON’

No.E-94125M

FEREMIFOAERRE

I 545C. SASCHELES
ZEL

N X

REHRE
EYEAE S AMBER
SBHEE (BREE) STB1,23%24A |#% SEM4ER
STB4,56%24 |1& - RIBREZES2D
T. SE#
KB ELgE
\ SIS EIET5. 100, 125, BEM4ER
150.175.200m/m RIRERZEZ6D
B4R
ez LT TEUZE
BEMIER BEMER
BISRERSE4 BRISREEE6D
Pt
iTES WS | ERTREE BGEE 8F) T SEE BREER (824) . ARm#ug2ME)  ERkg
901094 | CMR1412 14 M12X1.75 1£  STC0301-STC0302-STCO303 = STB-1-STB-2-STB-3 = 11
901118 | CMR1612 16 M12X1.75 1E  STC0301-STC0302-STCO303 - STB-1-STB-2-STB-3 - 11
901119 | CMR1614 16 M14x2 1&  STC0401-STC0402-STC0403  STB-1-STB-2:STB-3 = 13
901120 | CMH1614| 16 M14%2 1%  STC0401-STC0402-STC0403 = STB-4-STB-5-STB-6 = 23
901121 | CMH1816 18 M16X2 1E  STC0401-STC0402-STC0403 = STB-4-STB-5-STB-6 = 25
(ERON)’
T-SLOT NUTS & STUDS SETS WITH METAL RACKS No.E-9411SM
e BETRE BN LI EE
HmEBRTHEGMNLETER
545C YN RELE
NEHRE
RRIHF g
EEEE (HRERH) B ET5. 100, 125, BEMER
sy 150, 175. 200m/m ‘ HIBREESN
B4R
EEEI R TEIZE
BEMIER BEMER
BIBRERE4 BISREEE6D
WA
i8S HS | EETEER BUEE G TRES6) EHEE D) SHIRRES o) RUKIZHF (B41R) | Eikg
901095 SSM1412 | 14 - M12x1.75 TNM1412: FNMOO12 - CNMOO012 - BM01275,12100,12125,12150,12175,12200 4.4
901122| SSM1612| 16 = M12x1.75 TNM1612: FNMOO12 : CNMOO12 - BM01275,12100,12125,12150,12175,12200 . 4.5
901123/ SSM1614 | 16  M14x2  TNMI1614 FNMOO14 - CNMOO1T4 BMO1475,14100,14125,14150,14175,14200 5.7
901124/ SSM1814 | 18  M14x2  TNM1814 FNMOO14 - CNMOO14 :BM01475,14100,14125,14150,14175,14200 5.8
901125/ SSM1816 | 18  M16x2  TNM1816 FNMOO16 - CNMOO16 - BMO1675,16100,16125,16150, 1617516200 7.0
901126/ SSM2016 | 20  M16x2  TNM2016 FNMOO16 - CNMOO16 BMO1675,16100,16125,16150,16175, 16200 8.0

AIEER THCADHIE. HITEFEIMA.

FASE I — 3 D34
B H = mE>3H

~
-

S
N

il



Claire
top-cel.cn


